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r 0,1,2,....,9 EOF Other

NextWord()
state < sq; Register Digit Other Other ‘ &
lexeme < “ 7 | - 9» 9.’
clear stack: The Classifier Table, CharCat . o d
push(bad);
Wh;ul e . E; ta ?e ;:é Se j _ do Register Digit Other N
lexeme < lexeme + chal: 50 51 Se Se
- 51 Sl'-_’ 52 Sl'-_’ PR
if state €8y . s . s 2.,)[%‘%. LS‘)‘Q
then clear stack: 2 e 2 e B
s 3 s 3 o]
push(state); ‘ : i : . >
cat < CharCat[char]: The Transition Table, 8 °rC )L*g) )L‘*’JM 4al>
state <« §[state,cat]: prg HL, Al § (gam B> yuiles
end; Uas CJl> a5 0g,9 L caBgs
Wh]' ]E'(.Stﬂte ¢SA ﬂﬂd S0 51 53 Se r:rac g.;LC}Uo‘ LS)LLQ.i:MP :L'JJ&BChCII'CCﬂ Jﬁd.> 9o "
state#bad) do invalid invalid register invalid | FFT PR3 5e Gl Sl 535,35 sl ciS p adl>
state <« pop(); Sopdy s cp Sl Ring fails 5 cge atiy 5l eolail *
truncate lexeme; The Token Type Table, Type 5 el e w
Rol1Back(); W IEL Y e R

end;

if state €8y
then return Type[statej;
else return invalid ;

The Underlying DFA
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r 0.1 2 3 4.9 Other r([0...2]([0...9]le)|[4...9]|(B3(0]|1|e)))
51 Se Se Se Se Se
Se 52 52 55 S4 Se
Se 53 53 33 53 Se
Se Se Se Se Se Se
Se Se Se Se Se Se
Se 56 Se Se Se Se
Se  Se  Se Se Se Se
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while (state # s.) do
NextChar(char);
cat <« CharCatl[char];

state <« S[state,cat]:;
end :
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CharCat shi gae 4 olows
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Sinit *

S0 ¢

51.'

i

lTexeme <« "
clear stack:
push (bad) ;
goto sq;

NextChar(char):
lexeme <« lexeme + char:
1T state €S54

then clear stack;
push(state);

1t (char="°‘r")
then goto sy ;
else goto Sout:

NextChar(char) :
lexeme <« lexeme + char;
if state €Sy

then clear stack:
push(state) ;
1f (‘0°<char<’97)

then goto $7;

else goto Sour:

So 2

Sout

NextChar(char):

lexeme <« lexeme + char:

it state €8y
then clear stack;
push(state);
it ‘0'<char< ‘9’
then goto s> ;
else goto Sout

while (state ¢S4 and
state # bad) do
state <« pop();
truncate Texeme;
RolTBack();:
end;

1f state €S54

then return Type[state]:

else return invalid:

-,

3 0
*e A

r[0..9]t



state =1 —— start state
loop
read cur_char
case state of
1 : case cur_char of

BN SRR | I
‘a7
‘0D...'9":

o,

2 : case cur_char of

n: case cur_char of
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Buffer 0 E Buffer 1

n-1in ‘tlﬂput Pointer 2n-1



Char <« Buffer[Inputl]; Input <« 0;
Input < (Input+1) mod Zn; Fence <« 0;

fill Buffer[O0:n];
if (Input mod n = 0)

then begin; Initialization
fill Buffer[Input: Input+n-11];

Fence <« (Input+n) mod Zn; if (Input = Fence)

end; then signal roll back error;

return Char; Input <« (Input-1) mod Zn;

Implementing NextChar Implementing RoTTBack
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